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1 | EHT10 FEFRE T _ERTHP # 0.03 ha | —EEE 11
2 | kHET14 JEFRE T _EETHIPN # 0.07 ha 11
3 |FEmT45 EfETE T T BN ¥ 0.08 ha 11
4 |EEFHETLO FERTE TR R T H HipN # 0.05 ha 6
5 |ERHHETL1-3 FEFTETTEEIET — T HHN # 0.06 ha 6
6 |41 R T AR RT PN % 0.13 ha 16
7 |12 FEFR T AT HIA # 0,14 ha | —RIETE 16
8 |44:HET20-3 EEFn T A A ET Hh PN #0.01 he | —IBiE®E 16
9 |tErT20-4 EFnE T AT # 0.52 ha | —IBIEE 16
10 | EAEMTE9 FEFAETEFITHLA 9 0.07 ha | —BRIEE 11
11 |[+4=ET70 FEF0 T A AR ETHiN #00.02 ha | —EREEE | 11,12
12 |HABT72-3 R T AR RT N ¥ 0.07 ha 12
13 | 4EHT87-1 BRET AT BN 9 0.09 ha 11
14 | E4HET93 R0 E T A HTHIN # 0.08 ha 12
15 [{EFMTL5 EFNATEF AT HIA #0.01 ha | —3BIEE 12
16 |BiAHT3-1 R0 A TTHCA R Y ¥ 0.13 ha | —Ef8E 15
17 |FRASHETS T TH PRASET N ¥ 002 ha | —EEE 16
18 |E _EHT5-3 R0 T RRZE R AT HL PN #0.10 ha 16
19 |E EAT6-2 R0 E TR EERTHN ¥ 0.0l ha | —EREE 16
20 |E_EATS FF0 TR R AT H Y ¥ 0.01 ha | —ZR$EE 16
21 |FEAREIJNETL FERETEARE)BTHIP 9 0.08 ha 3
22 |&EFHT3-1 FF0 TS AT T B HhY 016 ha | —EpiEE 4
23 | EHAT7-1 ETETEHIT =T B #N # 0.06 ha | —LRIEE 4
24 | EHHHTO RS AT — T B HN # 0.11 ha 4
25 |EHET12 FERBEHEHIT—T BN # 0.13 ha 4
26 |HpFEET12 JEFETHRHIT=T B A # 0.06 ha | —ERIRE 4
27 |FHHET21-1 SN BT R —T B #py # 0,11 ha | —IffEE 4
28 |FHAT35 Fr BT FEET—T B #i # 0.15 ha 4
29 |FRFFATIT FTET PR T B AN ¥ 0.06 ha | —HHE 4
30 {/MAEET27 SRS BETHIA % 0.14 ha | —E8E 7
31 [/MAEEET32 S0 T s BT H # 0.13 ha | —IfHEE 7
32 /BN EEET33 SR R T /e BT PN # 0.07 ha 7
33 [/MAERT36 S E A /DR BT Y 9 0.06 ha | —HRIETE 7
34 |/MABHETST TR AR AT MY 00.23 ha | —EBEEE 7
35 |/MEERT61-2 |EFnEW/AMREEHPY # 0.06 ha 7
36 |/MRERT66 AT/ A BET N ¥ 0.04 ha | —EBIEE 7
37 |[/MAEHETT2 R0 A TR ET 0,01 ha | —3piEE 7
38 [INAEHETTS D T/ BT HEN ¥ 0.07 ha | —EEE 7
39 |/ EEETS1 S TR T H Y 9 0,03 ha | —Hp¥sTE 7
40 |HEJEAT2 0 E TR AT H Py # 0.21 ha 7
41 |ZEJFHT3 S0 T AR R H Y 9 0.08 ha 7
42 |FEIRET6-1 =0 T AR R T H P M 0.12 ha | —ERIEE 12
43 |#EIFHT6-3 JEFn B A EERIT HPY 9 0.16 ha | —IMEE 12
44 | AT1-1 J= 70 FE T AL BT A PN # 0.12 ha | —IRHEE 8
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45 | FAET4 S0 B T ML GLAT Py 9 0.07 ha 8
46 | THLEATL FEFET THEE =T B#R % 0.15 ha 7
47 | FHLERTY SFFNETH TIEET T B #pY # 0.06 ha 7
48 | THLEHETL3 FFNET TR EET =T B #iN ¥ 0.05 ha | —ERIEE 7
49 | TFiiEAT14-1 FRET THEIT=T B i #9019 ha | —FEREE 7
50 | FHiEET14-2 JEFOETT T ERT =T B iy 0 0.09 ha 7
51 |FHHEAT31-5 |EFfETTHEE—TH#A # 0.04 ha 7
52 |FELBENTS FRETETERIT =T B P # 0.06 ha | —EpsEE 4,5
53 |FEAPEETO SRR T LEET =T B N # 0.11 ha | —ZRIEE 5
54 |FELHEET10 FEFEATIH I =T BN # 0.05 ha | —ER¥EE 5
55 |FE-BEET16 R TR BT —T B He ¥ 0.06 ha | —ERIEE 4
56 |FELFENT18 SEFETELEIT T B HpY ¥ 0.15 ha | —&piEE 4
57 |- JERTI19 EFnEEE LRI =T B #N # 011 ha 4
58 |ZELFEMT25 FRETELREET—T B#A # 0.14 ha 4
59 [FELPEAT2T AT LA —T B A # 0.15 ha 4
60 |FEIEAT46 SEFN AT S REET =T B #iN # 0,15 ha | —IFfEE 4
61 [#ELFEET49 R E TR - RERT T B HY # 0.08 ha 4
62 |KET1-4 JEFIETRATIN T B #A # 0.12 ha 7
63 |KHT4 ST RET =T B #ipy #00.20 ha | —IffEE 7
64 |KATY SFRETARETI T B #ip # 0.10 ha | —IBIEE 7
65 | RETEEHEL BERIEMERBEIT R CEARETHAN | 49 0.18 ha | —IRIEE 7
66 | KETEE?2 S T AR R AT RN # 0.08 ha | —HiEE 8
67 |KETXH4 JEFET AT T B A 9 0.04 ha | —IRIETE 8
68 | KHETEES6-1 EFIETORETIE T B HiN # 0.04 ha 8
69 |HKRERT4 AN TR REETHE PN # 0.15 ha | —EBIEE 5
70 |BEKREEET6-1 7 1 B T RO R AT P ¥ 0.13 ha | —ifew® 8
71 |EKEEET12-1 S B T RO R AT P $ 0.11 ha 8
72 |HKEEETI6-1 | EFam KA P % 0.05 ha | —EZBiSE 8
73 |&AET2 SFFIE TS ARRT HPY ¥ 0.07 ha | —EBfSE 8
74 |5 ORET10-1 SRR TS AR BT HPY % 0.10 ha 8
75 |G ARET11-1 FF A TS AR HN ¥ 0.14 ha | —ERIEE 8
76 | ILHET6 S P T LR ) 0.14 ha 8
77 | LHET16-1 %0 H 7 (] LT P # 0.06 ha | —ERIEE 13
78 |[@1LET25-2 = %0 T ] L BT R P # 0.08 ha | —EMEE 13
79 |®@LET26-1 70 B T I LU T 9 0.09 ha | —EpEE 13
80 [[# (LHT 34 J 0 FE T LT HR P ¥ 0.07 ha | —LRIEE 13
81 | LIET40 J== 0 B T LT R P # 0.08 ha | —EZRiERE 13
82 |=HET39-1 FRET=mETH#N 9 0.06 ha | —EBIETE 14
83 |=MHHT41 FEFETH = EAT P 9 0,06 ha | —EGEE 13
84 |=HMETE6-2 FRIB T = HETH#AN #0.06 ha 14
85 |EEIEMT30 ST TS N # 0.10 ha 9
86 |BEIBTXHEL SR E TSR ¥ 0,22 ha | —IFiEE 8
87 |EEEKES3 0 HIEEEET H # 0.04 ha | —ZRFEE 8
88 |EEMSKIES U R T R T # 0.17 ha | —ER¥ERE 8
89 |EEZIXiE9-1 FEFIE RSN A 9 004 ha | —IRfERE 8
90 |/NSFET10 EFETNTEI =T B #A ¥ 0.07 ha 3
91 |{HOSFET1S FFRETISFET T B H#IN # 0.18 ha 3
92 | THAET28 FFET TRET—T B #A % 0.06 ha 7
93 | F#HET62-2 FEFET TR RO ERRETH ] 4 0.22 ha | —3REE 12
94 | THAET6E2-4 FEETRAETHA ¥ 0.28 ha | —BEEE 12
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96 | TH3ET76~1 SR T A ET RPN % 0.08 ha | —HEEE 12
97 | ERAET30-3 SR T AR N # 0.0l ha | —IRIEZE 12
98 | FinHT44-1 =TT T AT PN # 0.05 ha | —EBHEE 16
99 |RAMT31-1 FRETREART#A # 0.10 ha | —IfEE 12
100 |BAk: K E4 EAETEAN =T B #hR # 0.09 ha | —ZRfEE 12
101 |BAXET FERETRANT =T B HIRN # 0.11 ha 12
102 |BAEKEILL EFRTEANIT BHN #9 0.15 ha | —IRiETE 13
103 |BAERHI14 FEAIETRANTET B HirS # 0.07 ha | —ERfERE 13
104 |BAEXKE3I] EFNETRAITAT B HPA ¥ 0.28 ha 13
105 [BAXHES33 FIETRARAT BHIR # 0.09 ha 13
106 |4 X 40 R TRARTINT B HiN # 0.07 ha 13
&t 10641 # 10.71 ha
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Y EAERHIEE 518X % 85.26 ha
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